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495 Example 12.19

Using the equivalence property,

show that p>g=(pArg)Vv(—=p Ar—q).

496 |7. Verity whether the following compound propositions are tautologies

or contradictions or contingency

(i) (p—q)=Cp—q) (@) ((p—=9)AN(g—r))—(p—T)

497 | g Show that (1) (pANg)=—-pV g (1) ~(p—qg)=pA—g

49813 Using truth table check whether the statements —~(p VvV ¢ )V (—p A q)

and — pare logically equivalent.

499 _
14. Prove p — (g — r)= (p Aq) — r without using truth table

500

15. Prove that p — (—g Vr)=—-pV(—qgV r)using truth table.

End of chapter 12




